Make data

1:=0..360 7:=1,3..21
1 11
:=—.sin|g- 27T Y =
yi,j j (J 360 ) i ]Z;yi,z-jfl
[0 0 00 00 00 00 00
0 0.017 0 0.017 0 0.017 0O 0.017 O 0.017 O 0.017
0 0.035 0 0.035 0 0.035 0 0.035 0 0.034 0 0.034
1l 0 0.052 0 0.052 0 0.052 0 0.051 0 0.05 O 0.05
Y 0 0.07 0 0.069 0 0.068 0 0.067 0 0.065 0 0.063
0 0.087 0 0.086 0 0.085 0 0.082 0 0.079 0 0.074
0 0.105 0 0.103 0 0.1 0 0.096 0 0.09 0 0.083
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Rec , ::[i Jj v ] Rec= [1x 3]
i+floor(i)-360 407 :
2
Recy;;:=|for e 0..3960
forje0..2 010
A'I’LS' '<—(<R€C.)T) ReCALL: 11 0017
1, 1 ]
return Ans
i::1,3..cols(y)—1 j::O..rows(y)—l acrcmge,::lio—f)
J
xoffset:=0.5 yoffset:=0.1

20" := zrange +i- xoffset + 4.4 yo' =y + (i—1)-yoffset
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